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57.	�Dr. Wild had 18 ounces of the very rare 
element Goofonium. He split it up evenly 
into 6 separate test tubes. How many ounces 
of Goofonium were in each test tube?

18 ÷ 6 = ______
There were ______ ounces of Goofonium in each test tube.
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58.	�24 people showed up for Magical Melissa’s Amazing  
Magic Show, where she would pull a dishwasher out of a hat. 
There were 4 equal rows of chairs, and everyone got a seat. 
How many chairs were in each row?

24 ÷ 4 = ______
There were ______ chairs in each row.
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59.	�Industrious Ignatz made $21 cutting lawns for elves.  
Using scissors, he cut 3 lawns, each for the same amount  
of money. How much did he get paid to cut a lawn?

21 ÷ 3 = ______
He got paid $______ to cut a lawn.
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60.	�45 players showed up at Bingo Beach  
for the big sand hockey tournament.  
They were split up into 5 even teams.  
How many players were on each team?

45 ÷ 5 = ______
There were ______ players on each team.




